Environmental Pollution
(Class #: 1931)

Mid-term examination
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Hour: 11:00 ~ 12:50 am
Date: 25 April 2007

Student Name:
Student’s SIGNATURE:
Student I.D. Number:

Directions: Please enter your name on this page. Then sign the examination and enter your
student identification number above. Time allowed for this examination is 2 hours. Answer
all questions on a separate paper provided. Be precise, logical, and ordered in your responses.
Show all your work! 1 can not do give any credit if you do not write anything.
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Good luck on all your work regarding the questions.



